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6. Akerlof : The market for lemons : quality ..... QJE/170)

Armole

A good of two qualities : High and Low
Œ@

There are b buyers ,
each of whom wants to buy euit .

Here ee sH sellers
1
each wit one unit of It quality,

and
s 12

&

1
m L - - L V I

Assumption : zl > > 4 > ch



I

. Assuma that quality is obable ·

&E :
T & compativa markets :w .

-
R market for good It

-ï

Re market for good L .

Siel.
For [cGH . 24 :

E
↳ if pcc

SY p = Co
, si) if p =

<

TSi if P > c



Demand :

--

Te demands of goods It and L depend on (p" , pt) :

Consumers demand in quality tat gives hem he largest utility :

T
- pT = max(u- p

,

H
- pH) > 0

.

u =>
W

For (pt , pt) c [0 , 2'] x [0 ,
u") :

-Jo
,
b) if 4

- pt max 4 - p
,

u - pH) CE

2(x ,y)(x + y= b) if ↳ - p = 4 -p > -

I(DY(p! pH)
,

D + (p4pH) = E (b
,
0) if n -P = max 4- p

,

u
- pH) >c

I2(x ,y)(x +y b) if ↳ - p = 4 -p = 0

(0 ,
07 if mex) 4 4-p"

,
+ - p") < 0

.



CE Assam 6 - max /s" s"S .

Than :

-

L

· If b > s + S"
,

Than
. P = uh

, p
*
= mi

,

and all units tade
.

L- ch < u - c" = p ct , pt = 2 - /2 c)
. If b<s + S +, Then E > => pt = c"

, p
!
= 4 2 - (u- ch)

Morover
,

↓ units tod.

CE is Poeto efficient (i ..., mexuman surplus

is realized)
.

-L xampl : b = 3 ,
st
= S = 2

,
2 = 10

,
4 = 4

,
c" = 6

,

c = 2
.

-

Than : p = 2
, p = 10 - (4 - 2) = 8 .

surples realizad :
2) 10-6) + (4 - 2) = lo

Each buyer : 2
.

If sollar ~ 2

L sellus : O



1. Assume quality is known to sellers
,
but is obarned by

buyes only upon perchuse .

In his case There is a single market where both qualities

trade
.
Hance buyers are ancertain about in quality of

The good thy an offered .

IP
CE. s(p)
I

Supplay :

② if pach

s(p) = E st if <pcc' C
H
-

[s + St if p > c
H

.

=

* & q
sL s4+SH



I ↳Demand
cupus as is

-

E[n3 =
4
- ht

Assume E[2] <CH .

Hence
# All sellers supply at
Mis price

4
o if pxuh

D(p) =
B if c put

~? if paal



IP

E[u] < cH S(p)

ut
-

c -
The unique equili

-

ŒĞE[u] D S briem is inoffiant .

4L ï

= /p)

A I q
sL s+SA



Assume E[2] <CH. Hance

H
O if P > L

B if c "2 plh

D(p) I 4 O if cap - ch

↳ if c P uh

l ? if Pac
L



IP E[n] > c#
s(p)

ad
E[n] .

H
#

C -

Hz
--=

d
-

A I D(p)
* qsb+St



moreA tremeexample .

A m es 1 of sellers. The quality of he good supplied by

in seller Se[0
,
1) is q(x) = S , and

its oportunity cost is cl$S ..
Buyes' value of quality se[0 .

1] is 4(s) = CS
, <1 (12) .

CE
Z

Supply : PER1 .
S(p) = mindp . 14 .

Demand : D(p) - [0
if PE(h(S) ( , = p)

1 otherwise
. I ↑ A

· P I
-

# [u(s) /.S < p] ?
uniform

I 1
,
E4/S)/sp] = CERS/s < p] = C/ < p - 4(p)

= 0

(f
p = 1 : [[u(b)(s <p) =CES/s p) =C(E) p -D(p = 0



P S(p)

1 - *

CE : No trade b

·
S /Market disappears)

p

I i



Let p < 1 :

E[uls/S = p] = E[CS/S < p]

= <E [S/s < p]

Su VIo . i]
, f(x) = 116 : f()ds = <x : = 1)

5/5 < p : F(s/Scp) = Pr(Sas/S < p]

- est wresen e

1 if s > P
- E Es if SE P .

I

(P) P

Ana

f(s)22) = :" Si eE



#(s/s = p) = ) ! sf(s)Sid)

=! s

=( = 5( +)=
->


